
2 

Chopier-6 
DeimedNambrs 

What de hove.eaynti

(a) Seveh- tenths 0 + 

C tive huwndved hs O 

fif teen-hund ved ths O15 

Co) C8= zeve pcint n 

)*2 
Ont peint seven t'e 

03 
zeYc poit zee tne e 

e120-b9 One hundved kuehty point thee 

un 

O6 



Eaestuna 6:1 

Thce tenths 0.3 

C ThavBeeh ancl Six entha 13.6 

C) Fy two peint eignt q8& 

Cy Fitty cnmal feuy So4 

C9Thrty nnt eint feur fve si: 39-456

) Seven hund vee Siat One dt ime 7e 

thee 76103 

U Ten ond ve huned yeclihs o.os 

V)7evo tch mal one 2evo one O 1ol 

K 
O Rs betwee O cme L 

naver t O. 

i) O8 ies bctcen Cmd L 245/557 

O9nestK 1. 



13 

Cu1) 2:6 ic bctech 2 on 33 

26 neqver to3 

(N) 5-8 Lus betcen 5 cmd6 
S8 hoYeY o 6. 

14 ius hettiec h amel 

I nnemer tv . 

C) 0:2 us eeen 0 2 m o 3. 

Ci) o.53 ius 
hetrsech

O'5 md 
6:6. 

(uy o 19 Ls behwce
o't and O 

07emd O'd. 67 les beteen

(b88 Lis 
beeeh 

8 nd o 9 

246/557(b) 



) Place val of I 
YXace valt of5S 

Plece Valit of 8 = 
10 

Pace Vealtt 2 2 

pare velt ci2 2o 

Place velit of 5 

PRac e veLluue of 2. 

Pac e velt ot 6 

P.ace vela of 9 -

place val of 4o 

PRace. alt of 6 
PRace Vat o O o 

247/557 
PRare Valut ot * 

Poce Vet o 5 S 

5 



UPRace valus cf 3 c* 

Race Valie ef 0O 

Place Valls ot 2 

PRace Valut of 
PRacc valus of S 

.a 

P.ce Value ot 5 5oc 

PRacc Value of3 3oo 

PRace Valu of* To 

PRace veuue of o =0 

Plaxe Valut ot 3: 2 

Pace Value of 4 

247/557p.larce valn ol 1 lou 

PRace vedu of 8 = do 

P.lace vl of S 5 



Rec e Vals of 2 

PRace Vas of 0 0 

P.lae valu of 9 = 

T 
tiv 3.5 3 

Civ) 93o 

ci) 25 = 25- 

249/557 
Cin) 172. I7 31-9 



Cv) 34187 : 8+ 

1 

2 

0) 5t 8o9 50 +7 + +Ct 
o 

Ci) 2.05 625 be oF* reloo 

C) &o3- O + + o t 
10o0 

16 4o1= lo t6+ +o *- 

lo.p95 6+© *o *t 2 250/557 



Hot 9 +o+ + 49 031 

200 +1+22o+ - 2olot 

cse 

+9 9.00 5 

++* 

V13+ + 5. 13 50 

1635 17 + 

S5.505 = So H5]+ 
* 251/557 



0-906= Zeve pedint nùns 2eo Si Y 

nans enths md thouscncl ths 

(1 83 7o8 Eighly thryee peirds Seven zeTO 

ign 

E y Hhte, seven 
tentha cmd 

gh theusond Hra 

C) 35.5l6= T -five po'int fve ont srx or 

Trty fiv, five kntha, ome 

hundedth md Six 
thousgnclh& 

Cv) a-o3? Eignt six peint 2evo tHmee

Seven

gty s, thvee hundedtis 
Cmd Seven thoACtncl thAA 

G13-90 Sin hundyccd thixteen point hin 

252/557
Sy hundved hreehs

Jenhs qmd touy heuuGndhs 

6/jo 



Exevu 6 

C can e chegad te *2S. 75o*7S 
9x 25 

23 can be chomaa d to 23* 
S 

Ct/ & Lan he Chemgad o tZ 2.0% 5 

8+S. =0.oS 

C Can be Chnged to 3cx5 - T5o.

50 

4 5 

can be chongo4 t 48 90 0.96 
50 

So 1o 

vi 53Can be chamaed to 53 + 
53t2 

254/557 

612 



on be chongael to 15xS = 1075 
8X125

187S 

|(vn) 32 con ha Chargast to 3+35 
2.0x5

3s 
2.15 

25*25 

31+ 
I4 

12 
255/557 

s13 



() 
1845 18-+45 18 

5 

2 20 2 

20 

C11) o. o8 1e t.o8 = 10+8 =1o + 

1o25 tL: 250+ 2 
25 s 1X25 

25 ot2 25 
25 

C) 20.65 20 52 + 52 

20+ 5S= 2 t 2.0%2.0 +2 
Jee5 

2 2256/557 



V) + 6 + + S 
leo- 

175 +16 
25 252s 

19L 
S 

V12 Ol = 12+o4 12.+ = 12+* 

12-12 5 25 
125 

3o0- 25 5 

viy So2S 
50t25 S0 + 2 So + 29*13 

IeD foe5 

5o1+a * 
I 

2+= 2 

615 



) 5t-1s 5t 95 5 +.15. 

2.0 

to80 lo8o+19 1679 
2 20 

D-12s= 1)5 125+S
lvec2s 

() 14 

A5) 2.97S

C 
C) o12 

Cli3 

250 258/557 o)o875

Cw) 

o3 

-) oo75 


